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JEE MAIN 23 JANUARY 2025 SHIFT 2
CHEMISTRY QUESTION PAPER WITH ANSWER KEY

OQ'N Questions Answers
1. |The correct order of melting point of 14 group element is (K) g: Si> Ge>Pb>
2. What will be effect on pH of water it is heated Decrease
a -helix protein and - pleated sheet protein belong from which of
3. the following structure? Secondary
Match the following List | with list 11
-!mm-
4 i AR el A (ii) B (i) C (iv)
' D (iii)

5. |Which one of the following plots represents zero order reaction?

By using relation
AG= AH- TAS
° Which one of the following is incorrect for spontaneous reaction at a QHD 25K

given temperature

Statement I: For a particular shell, maximum number of orbital is n?
7.  |Statement II: For d-subshell, number of orientations lies between -1
to +1 including zero

The total number of isomers possible (aldehyde & ketones) for

S-1 and S-11 both
are correct

8 C4HgO are 3
. ERShre
P'rwli'r.:. .i'l;..'u;;-rI.B?
10. |Which of the following complex has a'* configuration [MnFe]*

Consider the given following reaction Kp= 2P3?
11, XoY(S) __ Xa(g) + 1/2 Y2 (g). If a is the degree of dissociation,
Calculate Kp in terms of P total pressure 332



Reb N
College Dz}khoﬁ www. collegedekho.com

Discover . Prepare . Achieve

When a non volatile solute (A) is added to a volatile solvent, the
vapour pressure of solvent decreases by 10mm Hg. Mole fraction of

12. |solute is 0.2. If 2nd solute (B) is added to the same solution and 0.5
vapour pressure of solution decreases by 20mm Hg. Calculate mole
fraction of 2nnd solute in the final solution.

Consider the following E* values of given half cell
- . Je Ie
13 [‘. R‘/AK = 08 V, F’I,n“/?,n = —076 v MEIME | “"'E |M

E =034V, Ey a4 0, = =236V

cu?t/Cu

Then which of the following will have the most negative value of AG*?

A compound X consume two moles of H, and when X' heated with KMnO,/H* gi

14.

Number of o bonds in X are

Nate NaOM

Tl (O =050 5550 ©

OCH,CH,

Number of sp' hybridised carbon atoms in Cls :

0.01 mole of an organic compound (Hydrocarbon) gives 1.76 gm
16. COzand 0.9 gm H20 on complete combustion. Find out the chemical |0.04
formulae of the compound.

Match the following

17. AiBiiCiiiDiv

Give correct product of oxidative
ozonolysis (O4/H,0)

Arrange the following compounds in the decreasing order of rate of hydrg

o

B B = '
18. Q @ = > V> 1> 11
Be
Br Br
()

(W) { (V)




